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영 어 ( C 형 )

문항별 배점 번 문제는 각 점: 1 8 1.2 , 9※ ～ ～

번 문제는 각 점 번 문제는 각 13 2.1 , 14 21 2.4～

점 번 문제는 각 점 번 문제는 , 22 31 3.1 , 32 40～ ～

각 점3.3

Choose the one that is closest in ※ 

meaning to the underlined part. (1-6) 

1. Our website compiles news headlines 

and summaries from other sources, and it 

allows you to scan them all in one place. 

(1.2) 

 copies① 

 remits② 

 delivers③ 

 edits ④ 

2. Popular search keywords, which greatly 

influence the setting of social agendas and 

forming public opinions, are positioned to 

stand out, and the list changes in real 

time, adding a sense of exigency, though 

many of the keywords are inaccurate and 

lead to bad information or provocative 

subjects. (1.2)

 accuracy① 

 factuality② 

 ingenuity③ 

 urgency④ 

3. Both potent and ascetic, Noon Anon is a 

new film that examines how one painter’s 

obsession with authenticity and the dark 

margins of his psyche leads to a nihilistic 

and destructive lifestyle. This is the most 

interesting facet of Noon Anon, the baring 

of artist Silas’ private inner world, a 

process that the director reveals to be 

inescapably impairing the physical and 

mental life of the painter. (1.2)

 disclosing① 

 degrading② 

 demolishing③ 

 dispelling   ④ 

4. Americans have grown accustomed to 

poor sportsmanship from their sports 

heroes. On the hard courts, on the clay 

courts, in the end zones, and on the 

bases, athletes gloat about their great and 

minor victories, and they whine when hard 

luck arrives. To a veteran sports fan, it is 

a dreary event. (1.2) 

 blithe ① 

 lamentable② 

 agreeable③ 

 gallant④ 
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5. Luke’s teachers introduced the children 

to a set of dinosaur models, which he 

promptly scrutinized. On the drive home 

from school, he regaled his mother with 

tales of triceratops and tyrannosaurus and 

velociraptors. (1.2)  

 bored① 

 related② 

 inspired③ 

 entertained④ 

6. The United States wants China to stop 

requiring American firms that seek to do 

business in China to have a Chinese 

partner and to share their technology with 

that partner. The States regards China’s 

behavior as a form of extortion. (1.2) 

truce① 

 blackmail② 

 speculation③ 

 alliance ④ 

Choose the one that is grammatically ※ 

INCORRECT. (7-12)

7. A number of interesting advances ①have

come from the field of nanotechnology 

recently. For example, computers are getting 

better as their smaller parts become ②

cheaper to make them. In addition, frames 

for glasses can now ③bend into

extraordinary shapes without breaking. Also, 

silver ④is being incorporated into clothing 

and food packaging as a natural 

disinfectant. (1.2)

8. For generations, people have looked at 

the sky with wonder at ①what lays beyond 

their reach. Astronomers ②such as Galileo 

brought the cosmos closer by looking 

through a telescope. But only relatively 

recently has the ability to travel into space  

③become a reality. One can only guess at 

what the future may hold ④in terms of 

our ability to explore the cosmos. (1.2) 

9. Environmental specialists point out that 

emissions trading, which has been partly 

regulated since 2005 by the Kyoto Protocol, 

simply ①exacerbates global warming. They 

say that the system, which permits 

countries that have exceeded their limit of 

greenhouse gas emissions ②buy the right 

to emit from countries that have not 

crossed the limit, only ③results in 

indulging the countries that consume more 

and emit more, and ④that the effect of 

gas reduction is meager. (2.1)

10. Throughout its long history, the New 

York City Police Department ①had

consisted mainly of white males. However, 

this generation has seen a host of changes 

in the force. There are now ②six times as 

many females in uniform as there were in 

1974, with minority women gaining greater 

representation every year. Also, ③to 

mirror the growing ethnic diversity of the 

city, the number of officers of Hispanic 

descent ④has increased by nearly 600% 

over the last decade. (2.1) 
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11. As the school year wanes, many eighth 

graders take note of a fact that ①earlier

may not have been obvious: from now on, 

grades appear on high school records. 

High school records, not ②to mention test 

scores, lead to college acceptance letters. 

The caliber of college one attends ③

determines the extent to which one will 

succeed in life. It sounds kind of ominous, 

i④ sn’t it? (2.1)  

12. The explosion of concern ①over the 

condition of the poor nations in the 1950s 

and 1960s, the increase in assistance and 

the ②associated political debate, and the 

explicit imperatives of Vietnam, where a 

policy intended to forestall or contain 

Communism ③was under immediate and 

awful test, all ④pointing, and desperately, to 

the same need. (2.1) 

Choose the appropriate word or phrase ※ 

for each blank. (13-17)

13. Frankly speaking, I did not know what 

to do with my life in my highschool days. 

Naturally, so lazy was I in most of subjects 

those days that I did fail in most of them. 

Had I only learned English a little more 

then, my English skill            now. (2.1) 

 would have been better① 

 would be better② 

 should have been better③ 

 must be better ④ 

14. Living as a hedonist every now and then 

has its benefits as well. As long as there are 

no long-term negative consequences, 

focusing solely on the present can 

rejuvenate us. In moderation, the relaxation, 

the mindlessness, and the fun that come 

from lying on the beach, eating a fast-food 

hamburger               a hot-fudge sundae 

or watching television, can make us happier. 

(2.4)

 to follow① 

 having followed② 

 follows③ 

 followed by ④ 

15. This was the beginning of a time of 

criticism of the theater and its morals 

which eventually led to the closure of the 

theaters by the Puritans in 1642. The 

theater was never again so popular as a 

medium of entertainment,  effective 

in questioning and analysing the issues 

and concerns of an age. The Golden Age 

of English Drama ended in criticism and 

censorship. (2.4) 

 in order to be① 

 no matter what② 

 nor so ③ 

 as much as  ④ 
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16. On the 57th anniversary of the 

Universal Declaration of Human Rights, a 

debate is raging over the human rights 

issue in North Korea. The UN passed a 

resolution concerning the matter last 

month, and other organizations are  

expected to hold an ‘International 

Conference on Human Rights in North 

Korea’ in Seoul this month. , even 

liberal groups who’ve been mum about the 

issue have come forward to have their 

voice heard, too. (2.4) 

 On top of all this① 

 On the other hand② 

 To put it roughly  ③ 

 Nonetheless ④ 

17. Some analysts worry about consumers’ 

perception that the electronics industry is 

always on the verge of breakthroughs; that 

perception could hurt the industry 

               products they believe will be 

soon be outmoded. (2.4)                 

 by letting consumers not buy① 

 by allowing consumers to buy② 

 by making consumers reluctant to buy③ 

④ by having consumers reluctantly buying

Choose the appropriate word or phrase ※ 

for each blank. (18-22)

18. Shelley’s Defence argues that “Poets 

are the unacknowledged  of the 

world.” These lines mean that poets are 

able to write the laws of the world by 

which we live our lives. (2.4) 

defenders ① 

 legislators ② 

 creators③ 

 benefactors④ 

19. People would think easily that 

happiness and success could not coexist; 

but, according to the author, it is wrong to 

think that success is won most of the time  

 happiness. (2.4)

in terms of① 

 in spite of② 

 at the cost of ③ 

 at odds with④ 

20. In the nineteenth century the wide 

application of advanced mechanical 

printing techniques made it possible for 

newspaper owners to print newspapers 

cheaply and in mass quantities, but unlike 

many other mechanized industries, where 

machines  workers, the new printing 

machines required trained compositors to 

run them thereby increasing the demand 

for skilled printing labor. (2.4) 

 restored① 

 marginalized② 

 patronized③ 

 sublimated④ 
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21. Even when considering comparable 

applicants, colleges favor the affluent. The 

widespread practice of           admitting 

the children of alumni is a fund-raising 

technique. And for the true wealthy, there 

is always the option of making a significant 

donation. (2.4) 

   

 inclusively① 

 impartially ② 

 allegedly③ 

 preferentially④ 

22. In the face of such a chronic tendency 

in social thought to foresee the 

disappearance of the fundamental conflicts 

which have set men against each other in 

the past, we must insist upon the        of 

conflict in social life. Conflict is the 

irremediable fact of the human condition, 

the inescapable source of much that is 

creative, as well as destructive, in human 

society. (3.1)

uniformity① 

 futility② 

 ubiquity③ 

 consistency ④ 

Read the following passages and answer ※ 

the questions. (23-40)

 If you’re trying to show off for people 

at the top, forget it. They will look down 

at you anyhow. And if you’re trying to 

show off for people at the bottom, 

forget it. They will only envy you. (A)

       will get you nowhere. Only an 

open heart will allow you to float 

equally between everyone.

23. Which of the following is most 

appropriate for the blank (A)? (3.1)

Property① 

 Dream② 

 Status③ 

 Fame④ 

My twelve-year-old daughter won a 

writing contest last year, and she wants 

to do it again this year. I’m thrilled to 

see her so excited about writing because 

I work as a writer myself. But as a 

writer, I know about winning contests 

and about losing them. I know how (A)  

it is when something I’ve worked 

on so hard is rejected by publishers. 

What if my daughter doesn’t win the 

contest again? It’ll frustrate her, yet it’ll 

be good for her, too. It’ll help her (B)    

what being a writer is all about. 

24. Which of the following is most 

appropriate for the blanks (A) and (B)? (3.1)

     (A)                  (B)

 terrific①   experience……   

 humiliating  struggle② ……   

 stressed③   undergo……   

 upsetting   learn ④ ……    
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  To Leonard Manning,

  Your blog’s assertion that our 

country’s recent intervention in the civil 

war in East Africa is a noble cause 

against tyranny is just another 

ineffectual attempt at neo-conservative 

brainwashing. Many of today’s netizens 

are too young to remember the 

so-called “humanitarian” military attacks  

this once great nation embarked on with 

disastrous results. They have little 

knowledge of how many innocent lives 

have been taken by our indiscriminate 

bombings and other hostilities. You 

must not perpetuate the sense that 

conflicts are best solved with the sword 

rather than intelligent discourse. Shame 

on you for putting our nation’s hostile 

aggression in a (A)  light in 

spite of the dismal results. 

Jessica Goldman, DFL Chairwoman  

25. Which of the following is most 

appropriate for the blank (A)? (3.1) 

 disapproving① 

 contemporary② 

 favorable③ 

 logical④ 

   The correspondence of Marcus 

Tullius Cicero, a prominent Roman 

politician, provides invaluable records of 

the Roman Republic from the pen of a 

man who lived through it. More than 

900 letters written and received by 

Cicero survive, 835 of which were 

written by Cicero himself: 416 to Titus 

Pomponius Atticus, his friend and 

publisher, and the rest to 94 different  

friends and relatives. While one of the 

most crucial, the account of the Catiline 

conspiracy, was lost no doubt destroyed —

for political reasons after Cicero’s death—

the letters that remain still afford a 

detailed and vivid picture of his time.   

26. Which of the following is Not true of 

Marcus Tullius Cicero? (3.1)

He was a noticeable statesman who① 

    participated in Roman politics. 

 Over nine hundred letters written ② 

    by him are still in existence. 

 His publisher was the recipient of over③ 

    four hundred of the remaining letters. 

 His letter delineating the Catiline④ 

    conspiracy did not survive.
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  In 1911, the eminent chemist and 

physicist Marie Sklodowska-Curie 

became the first person ever awarded 

two Nobel prizes. Yet, the 

momentousness of this occasion was 

somewhat overshadowed by vocal 

allegations leveled by the wife of a 

colleague, who descried Curie’s affair 

with her husband. Frenzied by the 

story’s sensationalism, media outfits 

worldwide effused so much debasing 

commentary that the Nobel committee 

attempted to dissuade Curie from 

showing up at the prize ceremony. The 

committee’s trepidations were 

unwarranted, (A)        , for she attended 

without incident and received her second 

award, this time in chemistry.

27. Which of the following is most 

appropriate for the blank (A)?  (3.1)

 instead① 

 though② 

 too③ 

 therefore ④ 

  An emerging field of neuroscience 

concerns how one person’s emotion 

may affect another’s. Central to this 

field are “mirror neurons,” a class of 

brain cells that appear to help us sense 

what others might feel. When we 

perceive or sense the emotion or even 

intentions of another person, these 

neurons (A)            the parts of our 

brain associated with what we have 

perceived or sensed. In a way, the 

behavior of others is replicated or 

“mirrored” within our own minds by 

these neurons. Mirror neurons may 

explain our feelings of empathy and our 

understanding of the feelings of another 

person.

28. Which of the following is most 

appropriate for the blank (A)? (3.1)

 arrest① 

 congeal② 

 stimulate③ 

 reflect④ 

29. Which of the following is NOT true of 

the passage? (3.1) 

 Studying how brain works toward① 

    empathy is an emerging field.

 People control others’ feelings through② 

    mirror neurons.

 Neuroscientists are much concerned③ 

    with how people are affected 

    by others’ feelings.

 Mirror neurons may help us empathize④ 

    with others.
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  African American newspapers in the 1930s 

faced many hardships. For instance, knowing 

that buyers of African American papers also 

bought general-circulation papers, advertisers 

of consumer products often (A)  African 

American publications. Advertisers’ 

discrimination did free the African American 

press from advertiser domination. Editors 

could print politically charged material more 

readily than could the large national dailies. 

Unfortunately, it also made the selling price of 

Black papers much higher than that of 

general-circulation dailies. And despite their 

editorial freedom, African American publishers 

often felt compelled to print a 

disproportionate amount of sensationalism, 

sports, and society news to boost circulation.

30. Which of the following is most 

appropriate for the blank (A)? (3.1) 

 devoured① 

 ignored② 

 bridled③ 

 echoed④ 

31. Which of the following is true of the 

passage? (3.1)

 Buyers of Black papers had no ① 

    interest in reading national dailies.

 ② Advertisers’ indifference to Black papers

    had the unexpected effect of lowering

    their prices.

 Editors of African American papers③ 

    could not print political material

    during the hardship period in the 1930s.

 African American publishers had to ④ 

    pander to sensationalism in spite of

    their editorial independence.

  Studies performed over a long period 

of time have shown clear links between 

the clearing of vegetation and the 

decline of annual rainfall.  Vegetation 

systems offer crucial feedback to 

mechanisms that buttress water vapor 

recycling in micro and meso scales. 

Having a variety of (A)heterogeneous

forms of vegetation can ensure an 

atmospheric condition suitable to 

precipitation and therefore, increase the 

resilience of agro-ecosystems to drought 

and extreme climates. On the other 

hand, if we continue to develop 

landscapes with our current state of 

mind, climate change will only be 

exasperated and long term hazards will 

be harder to suppress. 

32. Which of the following is closest in meaning 

to the underlined (A)heterogeneous? (3.3) 

 primitive① 

 perennial② 

 variegated③ 

 voluminous④ 

33. Which of the following is true of the 

passage? (3.3)

 Climatic changes occur predominantly① 

    in areas of heavy vegetation.

 Indiscriminate land developments are② 

    likely to incur extreme climates.

 Precipitation levels are proportionate to③ 

    the uniformity of flora in the area.

 Land clearance is essential to restoring④ 

    the resilience of ecosystem to drought. 
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  As for the pigs, they could already read 

and write perfectly. The dogs learned to 

read fairly well, but were not interested in 

reading anything except the Seven 

Commandments. Muriel, the goat, could read 

somewhat better than the dogs, and 

sometimes used to read to the others in the 

evenings. Benjamin could read as well as 

any pig, but never exercised his faculty. So 

far as he knew, he said, there was nothing 

worth reading. Clover learnt the whole 

alphabet, but could not put words together. 

Boxer could not get beyond the letter D. He 

would trace out A, B, C, D, in the dust with 

his great hoof, and then would stand staring 

at the letters, trying with all his might to 

remember what came next and never 

succeeding. On several occasions, indeed, he 

did learn E, F, G, H, but by the time he 

knew them, it was always discovered that he 

had forgotten A, B, C, and D. Finally he 

decided to be (A)  with the first four 

letters, and used to write them out once or 

twice every day to refresh his memory.

34. Which of the following is most 

appropriate for the blank (A)? (3.3)

 content① 

 neutral② 

 indifferent③ 

 resolute④ 

35. Which of the following is NOT true of 

the passage? (3.3) 

 The dogs are pretty smart in learning.① 

 Benjamin has no motivation to learn.② 

 Clover is slower in learning than Boxer.③ 

 Boxer is an industrious learner.④ 

  Throughout America’s history, social 

welfare has undergone dramatic changes. 

Originally, the colonists used a system, 

comparable to that of England, involving 

“poor laws,” which used local taxation to 

fund what were known as “poorhouses.” 

For most of the eighteenth and nineteenth 

centuries, (A)  was the predominant 

attitude towards poverty relief. The public 

saw poverty as an inevitable pattern of 

behavior, and believed reliance on welfare 

should be discouraged by making relief as 

unpleasant as it could be. The year 1935 

was a turning point, though, as President 

Franklin Roosevelt launched a national 

security program, which signaled a shift in 

how the public viewed and addressed 

poverty. 

36 Which of the following is most 

appropriate for the blank (A)? (3.3)   

 skepticism① 

 optimism② 

 pacifism③ 

 eclecticism④ 

37. Which of the following CANNOT be 

inferred from the passage? (3.3)

 Even in the colonial period, America① 

    had a sort of social welfare system. 

 America modeled social welfare policies  ② 

    on England’s example.

 Social welfare originally had a stigma③ 

    which still remains today. 

 An attitude change as to poverty was④ 

    accompanied by a national security

    program.  
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  The Rhine River was the most important 

waterway for European trade in the Middle 

Ages. Merchant ships paid tolls as they 

passed each state along the Rhine, in 

return for the Holy Roman Empire’s 

protection. But (A)in line with the decline 

of the empire in the 13th century, barons 

peppered the riverside with hundreds of 

castles to claim tolls from passing ships. 

Their toll demands became so 

(B)audacious that merchants gave up 

ventures down the Rhine altogether. The 

trade business along the Rhine collapsed, 

bringing down the sponging barons along 

with it.

  Columbia Law School professor Michael 

Heller calls this effect the “tragedy of the 

anticommons.” The waste of unclaimed 

property can be ruinous, but self-serving 

and expansive fights over a property can be 

(C)rarely disastrous, as seen in the Rhine 

River example. Heller, in his book The 

Gridlock Economy: How Too Much Ownership 

Wrecks Markets, Stops Innovation, and Costs 

Lives argued that overly fragmented 

property rights and broad ownership can 

eventually trap the industry and market in 

(D)a dead end.  

  There is an overabundance of patents in 

the biotech industry right now. Patents 

licensed over the last 30 years associated 

with DNA alone top 40,000 cases. 

Pharmaceutical companies must go 

through numerous patent holders and 

negotiate contract terms before marketing 

a new drug. Many tests fail to go beyond 

the labs (E) .   

38. Which of the following is best for the

title of the passage? (3.3)

Conflicts between Merchants on the① 

    Rhine and Barons  

 Clash between Ownership and② 

    Economic Development 

 Necessity of Developing New Drugs ③ 

 Patent Issues and Progress of Medicine④ 

39. Which of the following underlined (A), 

(B), (C), and (D) is NOT appropriately used?

(3.3)

 (A) ① 

 (B) ② 

 (C) ③ 

 (D)④  

40. Which of the following is most 

appropriate for the blank (E)? (3.3)

owing to political interference with① 

    new drug market

resulting in scrambling of pharmacists② 

    and doctors for dominating market

despite patent holders’ demanding③ 

    extensive ownership

 for fear of litigation backlashes④ 

    from reclusive patent owners 

        


